T nFauF

/
i
o

N P e e T R P #’&'F)-

Sok

EOREREORR

e 4 4 4 4E 4
onSeoR R oR o

&
5 X% 55 X% % X% P A% X

R A W A A

Series E1GFH/1

e

R A W A A R A P A A R A P A A

T aTe T aFe 4Te nTe 4T aTe e aFe 4Te nTe Td bTesTa aFe 4T nTe 478 sTesTasFe sTeufe
T W T W i W i W Wt W WL Ik

379#H1% / Roll No.

O
¥
1

Sk A S A Sk A S A SR A S A R A A

Set No. 2
S 64/1/2

\ TR ST B F] FRGER B
\§G-98 R 3 Ie7@ | |
'Candidates must write the Q.P. Code on!

'the title page of the answer-book. '

e e e e e e e e e e e e e - - - - —— == === - d

et (Vgr=ie)

GEOGRAPHY (Theory)

Reiia a7 : 3 g

Time allowed : 3 hours

Tz

SfeHaH 37 : 70
Maximum Marks : 70

NOTE

2 (D)

i s e e

=0

HYTT Td F A b 39 F97-77 H|(D)

gET U519 + 2 TAERT & |

Please check that this question paper
contains 19 printed pages + 2 Maps.

L (1D

oot ot o

O

J97-97 7 FIfed &1 #1 37k 7w 7w|(ID

JoT-97 HIS B GHETIT IT-GIEdHT
* JG-98 W 7@ |

Q.P. Code given on the right hand side
of the question paper should be written
on the title page of the answer-book by
the candidate.

= (D)

FHIAT T BT IH 349 Y97-9F Z|(III) Please check that this question paper

30 Y97 & |

contains 30 questions.

Kot St Son o o ot or Sori

o

= (1V)

FHGIT T HT I fera=T 63 v G| (IV) Please write down the serial

gged, W—gﬁwﬁmwm

HTIT o7& |

number of the question in the
answer-book before attempting it.

ot Sk or ot Sk ok

o

(V)

T T A e

4
EokonSion

oot bbbt intot ol ootk
e R KR KR L5 X5 5% K% £p X% X% % Xk % X% A% S X

A
<

El

ST
WL

3G Y¥-93 Hl g7 & 17T 15 fa7e (V)

HT GHY QI T B | FIH-9T F|
19T gatg d 10.15 &1 a1 e |
10.15 5 & 10.30 57 7% DT Ha
J97-97 Hl Yg7 SN 3 &Y &
GRIT d ITR-GIEdeHT W HIF I 78]
fer@ |

15 minute time has been allotted to
read this question paper. The question
paper will be distributed at 10.15
a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper
only and will not write any answer on
the answer-book during this period.

2 5 e 5 e 5 e 5 e 5 e
Q/Z P aFu T4 F e uFe sFe sFeaFasFesFe sFe sFe 4 e 4P 4T e uFe uFe 4Fe 4 e aFauFe 4T e e 478 sFeaFu 5T 4T w40
AT WA ST S WA ST At 3 2 AT Kk WA S S A AT 7 3

64/1/2

S AT T A WK T AT S St SR AT A

1

S AT AT A

WK T AT S s AW AT A A AT A A WK T AT S

ST T nTe nTanTe e pTe uFenTeTanTe nFe sTe sbesFesTasTe nhe sTesFenFa4Ta 4T nhe sTesTuenFalE
LA g Lar s A W L W RN LW L] )

AR E A L Lk Ak R A A A A R AR A o Ak AR R A A AR R

o S o o o ot o A o B o ot ok ks

A A A A A L A L

P O

B AE AR AE A A A AE AE AE GE A AE A AE A LS AE 4E %
e R E s

&
i

P nFe sFeaFesFesFe sfe s s e 4T 4Fe 4T 0 sFe 4T 4FeaFe 4 Fe T e 4T 5P sFueaFue 4T e 4 e 4 sfe sFeaFe
fr AT L g w ¥ L W AT AT 37 Y fr PR Y WL WA WA

P.T.O.%



HTHT=T 3397 :
FHETITRET 145911 %1 agd FIae] & Tieq 31K 371 ] & Yot 1T :

(i) 39 ¥97-97 4 30 397 & | @4t yo7 A4 &
(i) T8 Yo7-97 Giel @US] 7 [G9If5id 8 - @US &, @&, T, 909 & /
(i) WY F — Jv7 &I 1 & 17 7% Tgascdid Io7 & |
(iv) WISE — 97 G&7 18 TF 19 Gid STERT T77 & |
(v) TUET — J97 T&I7 20 23 7% TG-IHIT JHR & 97 8 | FAF o7 FT FNR
80 @ 100 55T 7 forar ST =150 |
(vi) TUE T — Y97 &7 24 T 28 FH-FRIT YHR & Y97 8 | Ie9% J97 &1 I/ 120 G
150 551 8 for@r s =z |
(vii) GUSF — Yo7 G&I7 29 7 30 HI/=7 TERT I97 & |
WU &
39 @V H 17 Fglashediy 397 (9. &. 1- 17) & | @4t 397 sif3ard 3 | 17x1=17
1.  SHEEAT foaur i gl s o Fefafigd § 8 SH-91 T gmices S
87
(a) @S (b) TR
(c)  fremfietor @  ommfa
2. T=fafgd # 9 *-81 <0 AHa foshE gaeeh S 31fd 3= Joft § o1 7 2
(a) BfFael (b) TR
(c) =M (d) It
8. &@ry ] &1 UE @y 11 8 i R gE foehed o1 wEe i
&Y [ &y 11
(37 537) (FEI1T)
T | =T 1. Toehetame
i ¥ g 2.  FTETEIE/IATT
jii, o Hed 3. BMEIE
iv. HRY dgd 4. AR
IEETR I
(a) i-1,ii—2iii—3,iv—4 (b) i-4,ii—3,iii-2,iv-1
e i-8,ii—4,iii—1,iv-2 @ i-2,ii-38,iii—-4,iv-1

64/1/2

2



General Instructions :
Read the following instructions carefully and follow them :

(i) This questions paper contains 30 questions. All questions are compulsory.
(it)  This question paper is divided into five sections — Sections A, B, C, D and E.
(iti) Section A — Questions no. 1 to 17 are multiple choice (MCQ) type questions.
(iv) Section B — Questions no. 18 and 19 are source based questions.
(v)  Section C - Questions no. 20 to 23 are Short Answer (SA) type questions.
Answer to these questions shall be written in 80 to 100 words.
(vi) Section D - Questions no. 24 to 28 are Long Answer (LA) type questions.
Answer to these questions shall be written in 120 to 150 words.
(vii) Section E — Questions no. 29 and 30 are Map based questions.
SECTION A
There are 17 multiple choice questions in this section (. No. 1 - 17).
All questions are compulsory. 17x1=17
1. Which one of the following is a social factor affecting the distribution of
population ?
(a)  Minerals (b)  Urbanisation
(c) Industrialisation (d)  Unrest
2. Which one of the following countries comes under very high category in
‘Human Development Index’ ?
(a)  Mexico (b)  Singapore
(c) China (d) Colombia
3. Match Column I with Column II and choose the correct option :
Column I Column IT
(Railway zone) (Headquarter)
1. North Central 1. Secunderabad
ii.  East Central 2. Allahabad/Prayagraj
ii.  West Central 3. Hajipur
iv.  South Central 4.  Jabalpur

64/1/2

Options :
(a) i-1,ii—-2,iii—3,iv—-4 (b) i1i-—-4,ii—-3,iii—2,iv—-1
(¢) 1-38,ii—4,ii—1,iv—-2 (d) 1-2,ii—-3,iii—4,iv—1
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4, Which among the following countries is related to ‘Ladang’ ?

(a) Malaysia (b)  Mexico
(c) India (d) Brazil
5. The port designed to receive petroleum, petroleum products and
fertilizers is :
(a) New Mangaluru (b)  Haldia
(c) Kandla (d)  Tuticorin
6. Read the following statements regarding objectives of family planning

and choose the correct option :

L. Control the birth rate

I1. Spacing the birth of children

III. Improving women’s health

IV. Reducing the death rate of children

Options :

(a) Only I, IT and IV are correct. (b) Only I, IT and III are correct.

(c) Only II, IIT and IV are correct. (d) Only I, III and IV are correct.
7. Which one of the following sea routes is the busiest in the world ?

(a) The North Pacific Sea Route
(b) The South Pacific Sea Route
(c) The Northern Atlantic Sea Route

(d)  The Southern Atlantic Sea Route
8. Read the given resources and choose the correct option related to
‘community’s resources’ :
L. Village water bodies
II.  Village agriculture land
III. Village residential land
IV. Pasture land
Options :
(a) OnlyI andII are correct. (b)  Only II and III are correct.
(c) Only IIT and IV are correct. (d)  Only I and IV are correct.

9. Which among the following is the largest region of ‘commercial dairy
farming’ ?
(a)  North Western Europe (b)  Canada region
(c) New Zealand region (d) South Eastern Australia

64/1/2 5 P.T.O.



10.

11.

12.

13.

14.

64/1/2

T 2011 T STFOAT 5 WRA 1 HESd TS i =GR Tg@ T | dier 7 |
YI@ G ¥ FefId Fal faehed 1 TI- ity |

(a)  h, HN AFGY, W] AT Hfdh I 37 HHh

(b) N WG, = el ufies, fafre ufis 3 o= afie

() PN TG, = Aeifien afies, @ #fte 9 o= Ffieh

(d) = ienfies siftes, Fwe, W& ufies 3 1= Hfie

freafarfiga semt w1 1A hifSu it 98t faeheq <1 =—A <hIfST

HITI : AT o STHIRT o |1 THEAR hl - HF & A1y
oo & T |

FYT 1 : UfomEaEY Teh gufd eaeh s [0 $ee & AW § M
ST 2 |

foepeu

(a) “had HAT TS B |

(b)  had Y I TE 2 |

(¢) A 19 I3 Tdl &, heH I, e 11 Hal INomd g |
(@) HUF 1T IS Tal &, heH I, A 1 Hal THomd 8 2 |

JMY(Teh AR HINISTT i Siet ATl hl & o FTIR A(Lhad & =[IaH &
g hH a7l Toehed I FHT

(a) WRARE-YE, g, e T <fH-foesd

(b) R, Aifees, gfag wa H-fosadt

(c) Eiae, IRAR-HE, =ii-fasedt g Affee

d) gfag, Arfees, IRdE-gUd va =fi-fosedt

IR T B HHEAREd § | Th8 TR h1 Y 1 &I TH & ?

(a) THf@ (b)  YHEIETHE
(c) Egh{l d) e
fefcfga & 9 -8 9919 & gfaey e ¥ efad g 2

(a)  UTehideh fauqmd

(b) Ak SAATY
(c)  Siad g gufe <l g
(d mfd 9 eTRed



10. The 2011 Census has divided the working population of India into four
major categories. Select the correct option related to the major categories.

(a) Cultivators, Agricultural labourers, Household industrial workers
and Other workers

(b)  Agricultural labourers, Household industrial workers, Health
workers and Other workers

(c) Agricultural labourers, Household industrial workers, Rail
workers and Other workers

(d) Household industrial workers, Cultivators, Rail workers and Other
workers

11. Study the following statements and choose the correct option :

Statement I : With the digitisation of information, telecommunication
slowly merged with computers.

Statement II : It resulted in integrated networks termed as Internet.
Options :

(a)  Only Statement I is correct.

(b)  Only Statement II is correct.

(c) Statements I and II both are correct, Statement II is the correct
result of Statement 1.

(d) Statements I and II both are correct, Statement II is not the
correct result of Statement 1.

12. Choose the correct option in order of number of people speaking modern
Indian languages from maximum to minimum :

(a)  Indo-European, Dravidian, Austric and Sino-Tibetan
(b)  Indo-European, Austric, Dravidian and Sino-Tibetan
(c) Dravidian, Indo-European, Sino-Tibetan and Austric
(d)  Dravidian, Austric, Indo-European and Sino-Tibetan

13. Fodder crops are an important component of which among the following
types of agriculture ?

(a) Mixed (b) Mediterranean
(c) Co-operative (d)  Collective

14. Which one of the following is related to push factor of migration ?
(a)  Natural disasters
(b)  Pleasant climate
(c) Security of life and property
(d)  Peace and stability

64/1/2 7 P.T.O.
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Read the case study given below and answer . No. 15 to 17.

15.
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Ramesh has been working in contract as a welder on a construction
site in Talcher (coal region of Odisha) for the last two years. He moved
with the contractor to various places like Surat, Mumbai, Gandhi Nagar,
Bharuch, Jamnagar and so on. He remits ¥ 20,000 per year to his father in
his native village. The remittances have been mainly used for daily
consumption, healthcare, schooling of children, etc. Part of the money is
also used in agriculture, purchasing of land and building of houses, etc.
The standard of living of Ramesh’s family improved significantly.

Fifteen years ago, the situation was not the same. The family was
passing through very tough times. Three of his brothers and their families
had to survive on three acres of land. The family was highly in debt.
Ramesh had to discontinue his studies after ninth standard. He was
further hard pressed when he got married.

Simultaneously, he was also impressed by some successful
out-migrants of his village who had been working in Ludhiana and
supporting their families in the village by sending money and some
consumer goods. Thus, due to abject poverty in the family and perceived
job promises at Ludhiana, he made a move to Punjab with his friend. He
worked there in a woolen factory for six months at the rate of only ¥ 20 per
day in 1988. Apart from the crisis of managing his personal expenditure
from this meagre income, he was also facing difficulty in assimilation to
the new culture and environment. Then he decided to change his place of
work from Ludhiana to Surat under the guidance of his friend. He learnt
the skills of welding in Surat and after that he has been moving to
different places with the same contractor. Though the economic condition
of Ramesh’s family at the village improved, he is bearing the pain of
separation of his near and dear ones. He cannot shift them with him, as
the job is temporary and transferable.

Which one of the following is the meaning of remittance ?
(a)  Money sent by migrants
(b)  Money earned by migrants
(c) Money spent by migrants
(d) Loan taken by migrants
9 P.T.O.
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ferfag
YR — FRIF &1 Fgqrai, 1901 — 2011
EL TR /A | T S | o SHEed | ¥ dgig
Ghell hl T (B9 H) H % (%)

1901 1,827 25,8519 10-84 —
1911 1,815 25,941-6 10-29 0-35
1921 1,949 28,086-2 11-18 8:27
1931 2,072 33,4560 11-99 19-12
1941 2,250 44,1533 13-86 31-97
1951 2,843 62,4437 17-29 41-42
1961 2,365 78,9366 17-97 26-41
1971 2,590 1,09,114 19-91 38-23
1981 3,378 1,59,463 23-34 46-14
1991 4,689 2,17,611 2571 36-47
2001 5,161 2,85,355 2778 31-13
2011 6,171 3,77,000 31-16 31-08

(18.1) WRA ¥ TorE ¥ # T SHEEAT 6l LD Jhg Faitess off ?

(18.2) 99 2001 H Het fohat THIT Sge ot 2

(18.3) I¥ 1901/ 20113 Wed A H TN hl T H HdA ol Jlg T3 ?

3x1=3
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16.

17.

The main cause of rural-urban migration in India is :
(b) Employment

(a)
(c)

Which one of the following is the

Education
Health

rural-urban migration ?

(a)
(b)
(c)
(d)

Pressure on infrastructure at the place of destination
Shortage of labour at the place of origin

(d) Tourism

Imbalance in age and sex
Intermixing of culture at the place of destination

SECTION B

Questions number 18 and 19 are Source-based Questions.
Study the given table carefully and answer the questions that follow : 3X1=3

India — Trends of Urbanisation 1901 — 2011

18.

Note :

64/1/2

demographic consequence of

Year Number of Urban Population | % of Total Decennial
Towns/UAs (in Thousands) Population Growth (%)
1901 1,827 25,851-9 10-84 —
1911 1,815 25,941-6 10-29 0-35
1921 1,949 28,086-2 11-18 8-27
1931 2,072 33,4560 11-99 19-12
1941 2,250 44,153-3 13-86 31-97
1951 2,843 62,4437 17-29 41-42
1961 2,365 78,9366 17-97 26-41
1971 2,590 1,09,114 19-91 38-23
1981 3,378 1,59,463 23-34 46-14
1991 4,689 2,17,611 25-71 36-47
2001 5,161 2,85,355 27-78 31-13
2011 6,171 3,77,000 31-16 31-08
(18.1) In which year was the decennial growth of urban population the
highest in India ? 1
(18.2) How much was the total urban population in the year 2001 ? 1
(18.3) How much was the total growth of number of towns between the
years 1901 to 2011 in India ? 1
The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 18.
Explain any three characteristics of urban settlements in India. 3x1=3
11 P.T.O.



19. U U S17=s5g H eaHYE® dfeu 7R 35 1= fou U ywai @ I faflaw : 3x1=3

ST& 3T R 9Sd & 39 Tohell Siered i AT & AT 3T qTHATIEh il
% I 9d & | -l o719k ATar-fudr Su=R o folu, o79ehl 3TEqdTe o 9
g | foume # oTuen! 1Yk derd ® | foReft oft foarg i feufa § st
FhIA T ot ATt g | TE TPR ek @Rl Fd & S BIF B PTAH gH W
T TETE Y A 7 | 3Td: Aff JhR i Hamd fafime A gt § S e
& S U Bt 8 | ey, fwem, fafa, uvmm et wARSH s &l
SATIETRIh HIACAT hl AAIIRAT g | $1 Hardl ol 3 dgifash I AR
foRaTeen TfdTequr 1 sTTawerehdt Bt 8 ST A 35 YUl SATaETIeh o-TdT & |
Jafiareh fSRaTehalTa T Tdet | FaUd § | S a1 Heael 1 Toh "ol
Heh & FIeh ST AT ThAThalTdl 1 UG HIA HfHeh, SATTHIIH
gfte @ yierfera fomivs STR qrmsieraTsti g giar & |

aniffeh foehrd Shi TRV TaTenaii § T o1 Ueh ST 4T TeIfieh Hered
H 1 A AT | T faehfia srefeyeen 1 a5 At e Shamshadl 4
TSR 9Td & 3R STU&ITehd A &A1 | Tgdaeh Heet H HRRA 31d @ |

(19.1) feetres wa@ qaitaes fshamradl H TH@ TR 1 T T | 1
(19.2) qareh TShATRATT fohel SRR 3IcaTe SR fafwa g1 & |afd @ ? 1
(19.3) Tormgl T1 qefiareh fshATRATl A1 Sooi@ HITT | é+é=1
@Ug T
97 G&I1 20 & 23 TG-IT0T I & |
20. (%) 9RA i vl R g Gfe 9 6 TgE Rttt #1 e
I | 3
Jreran
(@) 9ra i IHAfEd g @He 98 H ygE fomwarst w1 @
T | 3
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19. Read the given passage carefully and answer the questions that follow : 3x1=3

When you fall ill you go to your family doctor or you call a doctor.
Sometimes your parents take you to a hospital for treatment. While in
school, you are taught by your teachers. In the event of any dispute, legal
opinion is obtained from a lawyer. Likewise, there are many professionals
who provide their services against payment of their fee. Thus, all types of
services are special skills provided in exchange of payments. Health,
education, law, governance and recreation etc. require professional skills.
These services require other theoretical knowledge and practical training.
Tertiary activities are related to the service sector. Manpower is an
important component of the service sector as most of the tertiary
activities are performed by skilled labour, professionally trained experts

and consultants.

In the initial stages of economic development, larger proportion of
people worked in the primary sector. In a developed economy, the
majority of workers get employment in tertiary activity and a moderate
proportion is employed in the secondary sector.

(19.1) Explain the main difference between secondary and tertiary
activities. 1

(19.2) How have tertiary activities related both production and
exchange ? 1

(19.3) Mention any two tertiary activities. é +—=1

SECTION C
Questions number 20 to 23 are Short Answer Type Questions.

20. (a) Mention the main characteristics of the mineral belt of
‘South-Western Plateau Region’ of India. 3

OR

(b) Mention the main characteristics of mineral belt of ‘North-Western
Region’ of India. 3

64/1/2 13 P.T.O.
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21. Why is Phase II (1921 — 1951) of growth of population referred to as the
period of steady population growth in India ? Explain by giving any three
arguments.

22. Explain any three differences between irrigated and rainfed farming in
India.

23. (a) “Human beings were able to develop technology after they
developed better understanding of natural laws.” Evaluate the
statement in the context of naturalization of humans.

OR

(b) “The imprints of human activities are created everywhere.”
Evaluate the statement in context of humanization of nature.

SECTION D

Questions number 24 to 28 are Long Answer Type Questions.

24, (a) “India has one of the second largest road networks in the world.”
Support the statement.

OR

(b) “Indian Railways network is one of the longest in the world.”
Support the statement.
25. (a) Analyse five main factors affecting location of industries in the
world.

OR

(b) Analyse the classification of industries on the basis of raw
materials into five heads.

26. Why are sea ports known as gateways of international trade in India ?
Explain.

27. “The challenge of sustainable development requires integration of quest for
economic development with environmental concerns.” Evaluate the
statement in the context of conservation of mineral resources.

28. “Pipelines are used extensively to transport liquids and gases in the
world.” Support the statement with appropriate arguments.
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SECTION E
Questions number 29 and 30 are Map based Questions.

29. On the given political outline map of the World (on page 21), seven
geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5x1=5
The largest country in Africa

An area of extensive commercial grain farming

A major seaport

A shipping canal

An international airport

4= 0 am »

The westernmost station of the Australian Trans-Continental
Railway

G. The largest country in South America

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 29.

Answer any five questions out of the following : 5x1=5
(29.1) Which is the largest country in Africa ?

(29.2) Name an area of extensive commercial grain farming in

Argentina.
(29.3) Name any one major seaport in Japan.

(29.4) Name the canal that connects the Atlantic Ocean to the Pacific
Ocean in the West.

(29.5) Name a major airport of New Zealand.
(29.6) Name the canal that connects Red Sea to Mediterranean Sea.

(29.7) Name the largest country in South America.
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30. On the given political outline map of India (on page 23), locate and label
any five of the following seven geographical features with appropriate

symbols : 5x1=5
(30.1) The state with highest density of population

(30.2) The easternmost city of India having more than 10 million

population
(30.3) The leading cotton producing state
(30.4) Oil Refineries located in Uttar Pradesh
(30.5) Coal mines located in Tamil Nadu
(30.6) Major seaport located in Odisha

(30.7) International Airport located in Punjab

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 30.

Answer any five questions out of the following : 5x1=5
(30.1) Name the state of India with highest density of population.
(30.2) Name the leading cotton producing state.
(30.3) In which place of Uttar Pradesh are oil refineries located ?

(30.4) Name the easternmost city of India having more than 10 million
population.

(30.5) In what state are the Khetri copper mines located ?
(30.6) In which state is Tuticorin seaport located ?

(30.7) In which place is the international airport of Punjab located ?

64/1/2 19 P.T.O.






99 |. 29 & fe1u

WORLD-POLITICAL

64/1/2

21

For question no. 29

Sk

=l
o

vow

oo

Wies0

P.T.O.






For question no. 30

-

WA hT {ET-UT (TSI TR )
Outline Map of India (Political)

64/1/2

23



